1. o2 7S 30km ALe] LMo 3 ARE 2 AelerE el o
1 A1zko] At Wje] 428

@® 5km /A @ 10km /A] ® 15km /A

@ 20km /A ® 40km /A



Hi 2 7S 20km 71&8] 2e7=d] 2 A|7F 28 AREE Y2 ey
1 AZto] At ZE0] &8} o] &3S g2 15kt (H,
T km/A])

B e km/h
B e km/h



< A&# L7kl 1 AR WE7hed 40 2ol
0] &= v o] £2.29

‘1km/A], ¥ie] £ (5km /Al

:2km/A], B 9] &2 :5km /Al

‘1km/Al, ¥ie] &2 :3km /Al

‘1km/Al, ¥R O] &2 4km/A]

9km /A], 2] £ 10km /A






g 2 AZH W=7kt 1 AR 25

1Sy
.

Zre wj 2 732 20km 227}

5.

km/h



@ Hio] & 20km /Al, ZE9]

@ Hio]

@ Hi9] £2 30km /A,
@ o] &2 20km /A,

® ]9 &9 20km /A], ZFE9]

202 2km g
B oA shRe
3 2ol ele

42 30km /A, =9

A 72 S B AE ekt

718E Eoteed 1 A%t
?

4

et



HlS Btal 40km Zo]9] & FEo]l 22 WFom Jhede 1 Al
Zh o e m 71ed Thede 2 ARl A3t FEol 2=

A8 09
= =

O Al% 1km @ A% 4km ® A& 5km

@ AlZr 10km ® Al& 20km



EITE= =

A& e W 21km £ 7Hed] 441bo] AR ©

gL
= =

Ok
=%

3o Wz e
Tolat

km/h

7km & 7h=H 14]3F0]

2
]



Hi2 738 9km 2= ¢ 1 A7 30 &, 22 FA4= A Yk 4
L Eof|A 9] uje] &2} FE o

@ 8km/h, 4km/h @ 8km/h, 6km/h
® 12km/h, 6km/h @ 24km/h, 18km/h

® 24km/h, 12km/h



